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Identify natural resource.
1. 84T [Air] 2. 97oft [Water]
3. ST [Land] 4.1 94 [All of these]
.2 3Nl ORI A1 IR ——————— & T2 R ST
Fordepletion of ozone layer --------- machines are responsible.
1. ardTg et I [Air conditioners] 2. fthoRed [Refrigerators]
3. % [Fan] 4,919 192 [Option 1 & 2]
0.3  Wleiiclid BIucdT Aoiamed) BRIl i 3Tasd ATal.
Which of the following living thing do not perform the process of photosynthesis.
1.7eTs [Rose] 2. 971 [Ant]
3. 91915 [Alage] 4. [Tulas]
U4  GAcid! JURIBRES FAoild BIor ?

Which of the following is harmful living thing?
1. TSI [dodder] 2. 3TgosdT [adulsa]

3. 7SR [cat] 4.7T7ges [earthworm]
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.5 el BIvR [ e 3T ?

Which one of the following statement is false.
1. TpTRIRA QTS T fShaT TepTeTredtT ATi-TeaiTdl Bgd 2. [Photosynthesis occur in presence of sunlight.]

2. YIS fohie Co,d1g dTuRed ST, [Co,is used during photosynthesis]
3. UhTIRALATT fehda O, U ST, [O,is used during photosynthesis]
4. YPIHINUT fehdd O,ar] a1eR Ial. [0, comes out during photosynthesis]

9.6  ——————- 21 U0l SR 3MR.

------------- is aamphibious animal.

1. °HT¥T [fish] 2.2 [toad] 3.g4R [alligator] 4, pTdadT [crow]
¥.7  SIfigeiedr SiFRe 2018 Hefle RM® —————— T 3 AlhraT Jog T,

InAugest 2018, many people died due to the flooding caused by heavy rains in ----------------
I.H@W@[Tamil Nadu] 2. PRD [Kerala] 3. HERT¥ [Maharashtra] 4 ST [Rajsthan]

T.8  QIciicdehl PHIvIAT YU HETYRTET TR ?

Which of the following is effect of flood?

1. TR €T 81 [Soil erosion]
2. AIGT THTOTR ST & fared g1t gidt. [Huge loss to life and property]
3. fYepier 3T jﬁ)‘ﬂﬁ@ﬁ [Destruction of standing crops]
4. 301 99 [All of the above]
W.9 AU NS S 60" 38, TR Wetertich! BHIv fAe e 31Tg ?

Approximately freezing point of candle is 60° then which of the following sentences is a true?
1. Hursrecite Seehet faig AR 60° 318, [Approximately boiling point of candle is 60°c.]

2. AU e fdg AR 60° 318, [Approximately condensation point of candle is 60°c.]
3. HuigetTe fera foig AR 60° 372, [Melting point of candle is 60°c.]
4. T 99 91 [All of these]

9,10  geiigdn, T=ar, faeadrgdnar, SsurdT argdhal g qoreH ———————— EHDIRECI IR
Malleabillity, ductillity, electrical conductivity, thermal conductivity property occursin ------ substance.

1.1 [Carbon] 2.1 [Diamond]
3.7 [Glass] 4. A4 [Platinum]
15 0 1 [ —— TERTHEY IR HHT Tereh firAcsetel 3T,

In -=--mm- rubber the proportion of Sulphuris mixed in small quantity.
1.8 98 [rubber band] 2.918 W& [eraser]

3.3&RT T [rubber ball] 4. T&RT Wesuft [rubber toys]
T.12  3reieT o AT (YIgRAT) <l 180T STTurEde a” STaTG STERT BT FTHIIET ST,

Akshada have symptoms of aneamia, what shall be her diet.

1. %S [apples] 2. 931 [raisins]

3.UTeTe [spinach] 4. R I9 [all of these]
T. 13 Qelleidd! STet 1fdgTed Siawviced dIord ?

Which of the following is water insoluble vitamins?

1. Stteeeed &t [Vitamin B] 2. Siteeced <t [Vitamin CJ
3. Sfg¥aced f$ [Vitamin D ] 4. 901 94 [All of these]
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Gefiertdh! gehreht SEF 3w,

Which of the following is incorrect pair?

1. BID TG B — el =9ed B1e [Jet black hair - Carbon in the melanin]
2. 9%/ UTGRT B4 — Hel=-Hed e [Brown lighter hair - Sulphur in the melanin]
3. q1ES B — Helf~-9ed ellg [Reddish hair - Iron in the melanin]

4. T TRV / BISYUIT — Het (el THIUMER STaeied

[Fairness or darkness of the skin - Depend upon the propertion of melanin]
T cTeh! PITCT HieT HIa hacHed 31Tg ?

Which of the following jointis present in skull of human body?

1. {9 |TET [Hinge joint] 2. IGSBIT AT [Ball and socket joint]
3. ARGAT 7T [Gliding joint] 4. I ATEY [None of these]

T & S TR SIAAMT ATehTd ! Tl DIvred bR 31 ?

Wheels of the moving S.T. Bus have which type of motion?

1. 17 Tt [Linear motion] 2. 98T R et [Circular motion]
3. 3TiqIfer et [Oscillator motion] 4. 94 19 2 [Option 1 & 2]
GTcAeTU<hT DIOTCH TTet Hard T Mg ?

Which of the following speed is lowest?

1. 10Hex /dang [10 m/s] 2. 103t /39S [10 cm/s]

3.10 fepHt /T [10 km/hr] 4. 10 fHH1 /fafHe [10 km/minute]
gefl ST S° ISSAMT ——————— T ITIR PR,

---------- type of force is applied by bird while flying in the sky.

1. Y91 g1 [Magnetic force] 2. %<1 9t [Gravitational force]
3. g T [Muscular force] 4. €907 97 [Frictional force]
g g - ——————

The force of friction is ------

1. Fgiar BrRIGefR 3RAd. [Always an advantage]
2. FeHa BRIk 794, [Always a disadvantage]
3. peft Beft hragefR eRTd R Beft deft hragefR 9.

[Sometimes an advantage and somties a disadvantage]

4. g1t AT [None of these]

The maglev train is application of ---------- force.

1. 99T [Magnetic] 2. Tecd1pSUl [Gravitational] 3. 1P [Mechanical] 4. G907 [Frictional]
fEaTRIa Herd Hed™r ——————— Fordl ISV, ThTe J €11 HUTeR .

When Diwali fireworks burst -------- energy is converted into heat, light & sound.

1. 7T [Kinetic] 2. IR [Chemical]
3. 3URYTRS [Non conventational] 4.@@[ [Electric]

------------ is nota simple machine.
1. [Pulley] 2. X% [Lever] 3.0 [Screw] 4. H1ghe] [Bicycle]




¥.23  QREIdRIS -—————— UhRTIT AR IGTERUT 3TTR.
The beam balance is alever of --------- type.
1. ufgedT [first] 2.g8T [second]
3. foRF=a [third] 4. 91T [fourth]
9.24 &I PRIR0 ——————— GRESIEEEEHIE RG]
Sound propagates fastestin ----------
1.gRT [thread)] 2. 91oft [water]
3. g4 [air] 4. TR0 99 [All of these]
¥.25 &Y 9UIC AIRIARTAR 50 FHT SIARTER SHT 31T, TR Tl Wi SIRATIRIT fohelt 3eRTER TR giget ?
Harsh is standing at 50 cm distance from plane mirror then his image will be fromed at how much
distance from mirror?
1. 10044 [100 cm] 2. 5094t [50 cm]
3.203H} [20 cm] 4. FATAT A AATEY [can not be said]
U.26 WU QTS ITeR Teetell fyR arg — - ————- ga?
The poisonous gas leaked outin Bhopal tragedy was ------------
1. AfreT TRRARARATS [Methyl isocynate] 2. Te HIFIFATSS [Carbon monoxide]
3. 99 [Methane] 4. IS S3TaATSS [Nitrogen dioxide]
¥.27 USdE =R g WictlerddhT soregt meft waefie amg 2
Edward Jenner is related with which of the following disease -
1. & [Rabies] 2.t [Small pox] 3.<1hdT [Paralysis] 4. %=1 [Cancer]
¥.28 THmEey —————— g 31T 3T
--------------- acid is presentin butter milk.
1. effded 3T [Lactic acid] 2. Tl 3RS [Tartaric acid]
3. 3iffee 31T [Acetic acid] 4. Frafeen 3w [Citric acid]
¥.29  fafcrT S ener droft efreer ?
Who invented ceiling fans?
1. 3TireTieR ¥gH 9 [Alexander Grahem Bell] 2. 1 [Marcony]
3. fthfeTa 17t [Philip Diehl] 4. ST gl [Jony Wakar]
.30 3198 ---———- e AToRT vt

31 May is celebrated as

1. 3R f<a4T [Earth day]

3. STNTfTep STeAfe [World water day]
ForQ.31to 33

T $hH 3N Yeiel W YT e,

2. Ferg Rl f&7 [No Tobacco day]
4. qiferan fa<t [Polio day]

Observe the number sequence and find the correct number that will complete the sequence.

9 22 o 26 49
w31 5,5, 7, 2 2

25

14 2.7
.32 7,12,14,24,28,7?

1.36 2.56

3, 2—58 4.6
3.72 4.48




9.33

Y. 34

7642:3592::6429:7

1.2576 2.8355 3.3947 4.8635
MO U AR 7 fShmft diaeares &1 are T e g Jhl 25 SHiHeR didie gos IR $el. @

T et el 3Rt ?

Ganesh cut a wire 7 times and made pieces of equal length. If each piece is of 25 decimeter. Find the
length of the wire?

1.200 m. 2.175m. 3.17.5m. 4.20m.
ABCDE FGHIJ KLMNO PQRST UVWXY

For Q. 35to 37 7IcTd 7 I9UIR U< 31Tooxd.

9. 35
9.36
9. 37
9. 38

9. 39

9.40

9.41

g.42

Y.43

Y. 44

Find an odd man out.

1.671 2.582 3.330 4.143
1.PSW 2.MOR 3.GJIN 4.EHL
1. NN 2. MM 3. L 4.P9
Ho-TfOgIeT STt A1y A forgr.

Find the number that can be placed into the last circle.

2 3 6 4
3a)e |, 1(n)e | 7(3)4 , 8(2)3
2 5 2 2
1.36 2.32 3.30 4.28

AT et L AT fSehToaRET fFeeiea Rifga dis
M3 el digreia foheft deo1 areders @i ?

In this figure Rohit travels from L to M how many times he faces
North West?

1. 9T [five] 2. 8T [siX]
3. 9H1d [seven] 4. 313 [eight]
QURT 3.30 91, SrSTeTe TIIeICT g fAfieepTeT Jread fabd! Siemre i TIR grsd ?

What will be the measure of an angle between the hour hand minute hand of a clock at 3.30 pm.?
1.90° 2.60’ 3.72.5° 4.75°

TehT Hichferh AT 3567 21 T 5486 13f) forfgara. o) 7936 € Hw peft forgret ?

In a certain code language 3567 is written as 5486. How will 7936 be written in this language?

1.9754 2.8845 3.6845 4.9855
59| 5| 31 TARIETeT ST 0T AT 2veT,
11[47] 2 Find the missing number.
23| 2 | 41 1.7 2.17 3.53 4.19

SATET ST 2012 ST TR STHAT SIFH 2004 AT ST aR 2019 ATt} 1 Srerea it SRt foeft g1der ?

Birth year of Saiis 2012, while that of Om is 2004. What will be the sum of theirages in year 2019?
1.20 2.22 3.24 4.26

ASTRICT 3TTehcilcilel I AT febell ?

How many angles are there in the figure given aside?
1.17 2.21
3.28 4.25
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.45 ISTRIT 3TTaheiiel aIReTelt e fohelt 2
How many squares are there in the figure given aside?

1.25 2.29

3.75 4.55

For Q.46 & 47 B
T [Boys]

g9 HUR [Drinking milk]

WRIg [Players]

w.46  fopcil woorg g e ?
How many players drink a milk?
1.3 2.5 3.7 4.4
W.47 U fOuR fabeil Tobrg Jel ared ?
How many boys player are drinking a milk?
1.3 2.7 3.8 4.9
T.48  HAFAS! 1.5 H, JFARTER Ueb ATHHTON 50 ot I Afgel TR 15 T T 45 1 Jarr e fuelt 3R 3Rt ?
50 boys are standing in a queue for mass drill. The distance between every two boys is 1.5 m. Then

what s the distance between 15" and 45" boys?
1.43.5m. 2.45m. 3.46.5m. 4.40m.

T. 49 SR 3ol gl Facel, BeciielT aTel Fegee, aTeanetl Rig Teeat, Rigrer fORTh recet ax s wmoft apiorer 2

If camel is called an elephant, an elephant is called tiger, tiger is called lion, lion is called giraffe then
which is our national animal?

1. 98 [lion] 2,979 [tiger] 3.gcdl [elephant] 4. fSRT® [giraffe]
T.50 2016 Iufiel T AFaR! 3RId TR 2017 Jufel Geard PIuredT e el 3Rie ?

Independence day of year 2016 was on Monday. What was the first day of year 20167
1. aIfER [Saturday] 2.3fqa9R [Sunday] 3.HAR [Monday] 4. ghaR [Friday]

(3mmuear weufda 50 2T 3ed™ (OMR Answersheet) ScaR Uf3ibd UeF HHid 1 d 50 Rfda Scar Aicardid.)
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